The EUROGREEN Model

List of Initial Conditions

(030) avg etaEN 1 O[industry]=
19.08,
32.17,
9.17,
17.07,
1.25,
563.39,
31.73,
89.68,
25.19,
1

(051) Bond real 0= INITIAL
2.0378e+12)

(135) EONIA 0= INITIAL(
0.0002)

(155) Fi O[industryl=
3.15e+09,
.97e+08,
.94e+009,
.88e+10,
.08e+10,
.49e+11,
.9%e+11,
.33e+10,
-8.77e+09,
-7.15e+09

S N =L

(164) FU 1 O[industry]=
2.24e+009,
5.12e+08,
1.9e+09,
1.76e+10,
2e+10,
1.37e+11,
1.95e+11,
2.27e+10,
0,

0

(255) initial avg alpha= INITIAL (
avg alpha)

(258) initial etal[industryl=
19.08,
32.17,
9.17,
17.07,
1.25,
563.39,
31.73,
89.68,
25.19,
1

(259) Initial Exp i[industry]=
.45515e+10,
.90549e+09,
.2275e+10,
.34868e+11,
.02022e+09,

~

.87492e+11,
.39507e+09,

~

OO~ O WEDNRE

(260) initial FDi [industry]=
.2855e+10,
.163e+09,
.0603e+10,
.53082e+11,
.27e+10,
.44217e+11,
.28301e+11,
.7952e+10,
.70313e+11,
.477e+09

W U oo d Wb www

(261) initial GDP=
2.3501e+12

(262) initial Gov Cnom= INITIAL (
5.14007e+11)

(264) initial k i[industryl=
2.27783e+11,
4.2605e+10,
8.988e+09,
6.35416e+11,
2.11045e+11,
2.94728e+12,
1.16356e+12,
1.54033e+11,
2.06418e+12,
le+10
(265) initial lambda i[industryl=
66.8975, 138.291,

2956.19, 159.081, 419.157,
180.298, 122.672, 185.381,
43,1775

, 9.82732

(266) initial MixY=
1.87e+11

(267) initial N U j[skill]l=

1.02e+06,1.82e+06,597000
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(268) initial NEji[low,industryl= (273) initial pop 65 plus=
198914, 1.13915e+07
11624.6,
2304.24, (274) initial real VDj([skill]=
611724, 0,
13408.6, 2.21e+09,
422845, 8.65e+10
1.67107e+06,
43891.9, (275) initial real VDKap=
1.40803e+06, 6.5e+10
108000
initial (276) initial real YD j[skilll=
NEji[middle, industry]= 2.27e+11,
487016, 3.95e+11,
14135.9, 4.98e+11
©6383.83,
1.6673e+006, (277) initial share nrg
106828, i[solid, industry]l=
1.06041e+00, 0,
4.059e+06, 0,
240381, 0.200,
3.874e+006, 0.101,
191350 0.024,
initial NEjif[high,industry]= 0,
133521, 0,
6920.64, 0.00767,
3420.89, 0.00767,
884584, 0.00767
111240, initial share nrg
376000, i[liquid, industry]=
3.25003e+06, 0.763,
580493, 0.485,
4.382e+006, 0.149,
99000 0.357,
0.029,
(269) initial Output i[industryl= 0.574,
le+11, 0.918,
6.27e+09, 0.115894,
4.78e+10, 0.115894,
7.1le+11, 0.115894
1.31le+11, initial share nrg
5.16e+11, i[gas,industry]=
1.46e+12, 0.038,
2.17e+11, 0.148,
5.65e+11, 0.047,
3.45e+09 0.281,
0.043,
(270) initial pop 0 to 14= 0.247,
1.35409e+07 0.002,
0.30475¢,
(271) initial pop 15 to 44= 0.304750,
2.39557e+07 0.304756
initial share nrg
(272) initial pop 54 to 64= i[electrRenew, industry]=
1.70542e+07 0.199,



(278)

(279)

(280)

(281)

(282)

(283)

(287)

(288)

(289)

(290)

(291)
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.367,
.598,
.261,
.904,
.179,
.08,
.57168,
.57168,
.57168

OO OO OO o oo

initial tax floor 2=
9690

initial tax floor 3=
26764

initial tax floor 4=
71754

initial tax floor 5=
151956

INITIAL TIME = 0

initial Tot V= INITIAL (
2.81566e+12)

initial TrSoc FC j[skill]l=
2119.6,
2119.6,
2119.6

initial TrSoc RSA j[skill]=
5567.6,
5567.6,
5567.6

initial TrSoc SD j[skill]=
877.48,
877.48,
877.48

initial U rate j[skill]=
0.173,
0.107,
0.063

initial uc i[industry]l=
.75,

.75,

.75,

.8,

.7,

.83,

.85,

.7,
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26.
20.

28.
25.

40.
33.

0.
0.

12

51 19.

11

15.

93 24
45

19.
28 30.

1)

7,
7

(292) initial wageh

ji[skill, industry]=TABBED
.58 22.2 24.2 17.
64 18.22 26.54 18.

(293) initial YD Kap= INITIAL

7.

(294) initial

(295) initial Zimp i[industryl=

5
2
1
3
6.
1
5
1
1
9

1.
8.
2.
1.
0,
0,
9.
0,

17e+10)

Zi[industryl=

.02e+10,
.58e+09,
.35e+10,
.33e+11,

8e+10,

.62e+11,
.62e+11,
.1lde+11,
.12e+11,
5524.8

l16e+10,
87e+08,
79e+10,
48e+11,

96e+10,
0, O

(303) ir Debt 0=

0.

007

(308) ir LTB 0=

0.

03

(431) p Bond 0=

0.

563

(443) p 1 O[industryl=

OO PP O

.025,
.9107,
.136,
.099,
.9102,
.6339,

11 24.62 29.57 21.
.04 20.63 30.2 20.

04 33.18 54.73 39.
77 31.3 32.6 24.

ARRAY (

62
01

53
36

85
74
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.9392,
.9365,
.071,
.042

S = O O

(444) p 1 0 norm[industryl]=
i,1,1,1,1,1,1,1,1,1

(450) p nrg 0[nrg]

n
1,1,

=

0
1,
(508) rrEqg 0=

0.025

(573) share Vj 0[skill]=
0.022,
0.113,
0.704

(575) share VKap 0=
0.1l61

(747) Z E O[industryl=
.38e+09,
.5e+08,
.26e+09,
.65e+10,
.98e+10,
.72e+09,
.97e+10,
.43e+08,
.02e+09,
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